MATH 152 Spring 2016
COMMON EXAM II - VERSION A
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be returned, therefore for your own records, also record your choices on your exam! Each problem is worth 4 points.

4. In Part 2 (Problems 16-20), present your solutions in the space provided. Show all your work neatly and concisely
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and correctness of the work leading up to it.
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PART I: Multiple Choice. 3 points each.
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2. Find the length of the curve y = V22, 0 <y < L.
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4. Which of the following intcgrals results after performing an appropriate trigonometric substitution for
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10. Which of the following integrals gives the surface area obtained by rotating the ¢

about the y axis?
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3. After making an appropriate trigonometric substitution, which of the following integrals is equivalent to
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PART II: Work Out
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19. Consider the surface obtained by rotating the curve y = In{2z + 5), 1 < 2 <2, about the z-axis.

a.) (5 pts) Set up but do not evaluate an integral in terms of = that gives the area of the surface.
=y S

5A =

bh.) (B pts) Set up but do not evaluate an integral in terms of y that gives the area of the surface.
4 N

- & e AN E ' A~ o i
| € X = = = A= e =
’l'l
ol 7
n s e < DA 9 - Pn g
20 '7 = o =2 0 L p = P P Y
e SH= L
Q- o A
{ st
AR = An
20. (9 pts) Find [ ——=== du. Express your answer without the use of trig or inverse trig functions,
zdy/a? —4 G e o
‘ = 5 & ! 7
R Semmm L e 53'{7‘
- o o0l =
P G R S k-
R - R Y A
A = (=t fa
/
o
o)
? / ﬂr" )]
tp A e C
ity | < et (A
— | s &
! | A : -,t ) A !
= f [ ypa.—) ‘5‘, .‘f) C/"']/Fj {,ﬂf/ ; t
% o
4 i =\ § ¢ i b
- w2 , \ 1/\’ / s L. /- | '
= I' o LA, 5 )
£ i 7 3 -
@ 2 .
T T & o+ 'qu. ;
T2 L ! p
N \ —_ —!— S ,” l’fﬁ) { T ey
/ +
/
).-——"""--z
) 9




dx

ba? +Te+8
(z — 1){z?+9)

21. { 11 pts) Find /

s
¢

h.
1
P
x| 3
5 u s

o,
—
<

10




